® Ast3F @ A% 1000 B8 T4
@ ST 471914 2 4 24 @) 3% 15°C

G)s=o2 100m




@®© +4, -5,+1 @ +4, -5,-1
® -4, -5 +1 @4 +541

® +5, -4, -1

g0l Dol A
714 THA] L B

A 4 et

dzmog v 7t ztoema 4 & AlZfsl A
oz oA 7t 2AFenE +5 & Pty




@ —12001

@_(_12001)

B

-1t = -1 ],

@ _12001 = il

@ (_1)2009 =1
@ _(_1)2008 = —1
@ _(_12002) -1
® _(_1)2000 = —il




4.

108 o] AR5 HE2A| -

@22, 32
® 1,3

® 1, 2, 22, 3, 32, 33

108 = 22 x 33




4>

7} 18 & wf, 100 ©]5ko] F 244

® 18 @ 36 ® 54 @ 72 @90

= ZpAS0] FHjSl H 4P 4o W52 2ot Hot

ofH F 2tA40] HA4Fuj57t 18 o BR A, B O] Fu5E 18,
36, 54, 72, 90 - °|t},

100 ©]5te] AA F 71 2 = 90 o]t}




6. oh 172 YezIFolH BA ED 9 52<) A
242 o] A4 B TN
©gt. @14 @) S
@ 370 ® 47 T

H I

g ED ¢ $7el mAgE mA DI, BA g EJ 2] 27 0]
=3




= % 12k MEAY 7

O 2 @ 3 ® 4 @)5 ® 6

12 =22 x 3 o]|E 2 5 9} A2 40|},




742.9] Zol7k 1200m, Al22] Zo|7} 168cm A HAF2Hg mapo]
Wl 2717k 22 AA2Hg Bl Bhele W gle] Holelm Sk,
eFo] 42 Heje A7 ol W Erle] @ we] Zolt % om
olojo} sH7t? g, Bhelo] B A7 ALg =T}

@ 18cm, 35 7} (@)24cm, 35 7| ® 18cm, 40 7}

@ 24cm, 40 74 ® 28cm, 40 7H

S8 ~
A o] 3t HO| ZAo]E xcm 2 51,

120=xx0O, 168 = x X A

x £ 120 7} 168 o] g4

120 =23 x 3 x 5,168 =23 x3x 7

x=23%x3=24 (cm)

120 = 24 x 5, 168 = 24 x 70|22

Hast et M - 5x7=135 ()




9. ©}e aFoA sx 9] F7)=9

T+10°

D 35° @40° @ 45° @ 50° ® 55°

Lx + (£x +10°) = 90°
L /x = 40°




A m ol it

;g‘
AL, m el et

1

NI

u-

® Ho=

At

‘ O A AACx= A m Sl A

=
=

® A 4B, 0,D




